

An inverse resistivity problem: 1. Fréchet differentiability of the cost functional and Lipschitz continuity of the gradient

BALGAYSHA MUKANOVA¹

*The Faculty of Mechanics and Mathematics Al-Farabi Kazakh National University
Almaty-505012, Masanchi str. 39/47, Kazakhstan*

Abstract. Mathematical model of vertical electrical sounding (VES) over a medium with continuously changing conductivity $\sigma(z)$ is studied by using a resistivity method. The considered model leads to an inverse problem of identification of the unknown leading coefficient $\sigma(z)$ of the elliptic equation $\frac{\partial}{\partial z}(\sigma(z)\frac{\partial u}{\partial z}) + \frac{\sigma(z)}{r}\frac{\partial}{\partial r}(r\frac{\partial u}{\partial r}) = 0$ in the layer $\Omega = \{(r, z) \in R^2 : 0 \leq r < \infty, 0 < z < H\}$. The measured data $\psi(r) := (\partial u / \partial r)_{z=0}$ is assumed to be given on the upper boundary of the layer, in the form of the tangential derivative. The proposed approach is based on transformation of the inverse problem, by introducing the reflection function $p(z) = (\ln \sigma(z))'$ and then using the Bessel-Fourier transformation with respect to the variable $r \geq 0$. As a result the inverse problem is formulated in terms of the transformed potential $V(\lambda, z)$ and the reflection function $p(z)$. It is proved that the transformed cost functional is Fréchet differentiable with respect to the reflection function $p(z)$. Moreover, an explicit formula for the Fréchet gradient of the cost functional is derived. Then Lipschitz continuity of this gradient is proved in class of reflection functions $p(z)$ with Hölder class of derivative $p'(z)$.

Key words: vertical electrical sounding, coefficient inverse problem, Fréchet gradient, Lipschitz continuity of the gradient

AMS(MOS) subject classifications 34A55, 35R30, 65L08

1. Introduction

We study the mathematical model of vertical electrical sounding by using a resistivity method. In geophysical sciences this method is defined to be the problem of interpretation of surface or near-surface measured data (see, [1,8-15] and references therein). Mathematical modeling of the vertical electrical sounding leads to the following inverse problem of determination of the unknown leading coefficient in a linear elliptic equation.

Find the function $\sigma(z)$ via the solution of the boundary value problem

$$\frac{\partial}{\partial z} \left(\sigma(z) \frac{\partial u}{\partial z} \right) + \frac{\sigma(z)}{r} \frac{\partial}{\partial r} \left(r \frac{\partial u}{\partial r} \right) = 0, \quad (r, z) \in \Omega \subset R^2, \quad (1)$$

$$\begin{cases} \sigma(0) \frac{\partial u}{\partial z} |_{z=0} = \delta(r), & u(r, z) |_{z=H} = 0, \\ \lim_{r \rightarrow \infty} u(r, z) = 0 \end{cases} \quad (2)$$

from the measured data $\psi(r)$ defined as follows:

$$\frac{\partial u}{\partial r} \Big|_{z=0} = \psi(r). \quad (3)$$

Here $\Omega = \{(r, z) \in R^2 : 0 \leq r < \infty, 0 < z < H\}$, and the function $\sigma(z)$ satisfies the following conditions:

$$\sigma(z) \in \mathcal{S} := \{\sigma(z) \in C^2[0, H], \sigma(0) = \sigma_0, \sigma'(0) = 0, 0 < \sigma_1 \leq \sigma(z) \leq \sigma_2 < \infty\}. \quad (4)$$

Note that physically conditions (4) mean that the conductivity $\sigma(z)$ is assumed to be known at the Earth surface, and its near-surface behaviour needs to be constant (the condition $\sigma'(0) = 0$).

¹Corresponding author. *E-mail address:* mbsha1@mail.ru (B.Mukanova)

The problem (1)-(3) will be defined as a coefficient inverse problem or *VES-problem*. In this context, for a given $\sigma(z) \in \mathcal{S}$ from the set of admissible coefficients \mathcal{S} the boundary value problem (1)-(2) will be referred as a *direct (or forward) problem*. The functions $\psi(r)$ and $\sigma(z)$ are defined to be the *measured output data* and the *input data*, accordingly [5-7].

In view of quasisolution (or least square) approach, this inverse problem can be formulated as a minimization problem for the corresponding cost functional $J(\sigma)$ ([3,17]). In most cases for the numerical solution of this minimization problem gradient methods are used ([2]). For this aim, in many applications various gradient formulas are either derived empirically, or computed numerically ([1],[9]). Note that the first attempt for the numerical solution of the inverse problem (1)-(3) by using the gradient method was given in [1]. Although an empirical gradient formula has been employed with regularization algorithm, there was no mathematical framework for this formula. At the same time, it is well known that any gradient method requires an estimation of the iteration parameter $\alpha_n > 0$ in the iteration process $\sigma^{(n+1)} = \sigma^{(n)} - \alpha_n J'(\sigma^{(n)})$, $n = 0, 1, 2, \dots$, where $\sigma^{(0)}$ is a given initial iteration. Choice of the parameter α_k defines various gradient methods, although in many situation estimations of this parameter is a difficult problem. However, in the case of Lipschitz continuity of the gradient $J'(\sigma)$ the parameter α_n can be estimated via the Lipschitz constant, which subsequently improves convergence properties of the iteration process (see, [7],[18] and references therein). In this paper we propose a new approach for the solution of the inverse problem (1)-(3). This approach is based on transformation of the inverse problem, by introducing the reflection function $p(z) = (\ln \sigma(z))'$ and then using the Bessel-Fourier transformation with respect to the variable $r \geq 0$. As a result the inverse problem is formulated in terms of the transformed potential $V(\lambda, z)$ and the reflection function $p(z)$. This transformation allows to prove the Fréchet differentiability of the transformed cost functional $J(p)$ with respect to the reflection function $p(z)$, and to obtain an explicit formula for the Fréchet gradient. Then Lipschitz continuity of this gradient is proved in class of reflection functions $p(z)$ with Hölder class of derivative $p'(z)$.

Let $\sigma(z) \in \mathcal{S}$ be a given coefficient. Denote by $u = u(r, z; \sigma)$ the unique solution of the direct problem (1)-(2), corresponding to the coefficient $\sigma(z)$. Further, we introduce the trace operator

$$\Lambda[\sigma] := \frac{\partial u(r, z; \sigma)}{\partial r} \Big|_{z=0}. \quad (5)$$

Then the above inverse problem can be formulated in the following operator form [13, 14]:

$$(\Lambda\sigma)(r) = \psi(r), \quad r \in [0, \infty). \quad (6)$$

This operator form of the inverse problem (1)-(3) clearly shows that the problem of interpretation of surface or near-surface measured data consists of recovering the conductivity $\sigma(z)$ of the layer $0 < z < H$ from the knowledge of the measured output data $\psi(r)$.

On the other hand, solution of the inverse problem (1)-(3) means inverting of the input-output map $\Lambda : \mathcal{S} \mapsto \Psi$, where Ψ is the set of measured data. To analyze this input-output map we introduce now the function

$$p(z) = (\ln(\sigma(z)))', \quad (7)$$

which represents an analogue of the reflection coefficient in the medium with continuously changing conductivity $\sigma(z)$. Denote by Λ_2 the right hand side operator in (7): $\Lambda_2\sigma(z) = p(z)$, and define the operator Λ_1 as follows

$$(\Lambda_1 p)(r) = \psi(r), \quad r \in [0, \infty). \quad (8)$$

Then the input-output map Λ can be represented as follows: $\Lambda = \Lambda_1\Lambda_2$. Evidently, the operator Λ_2 is invertible, and

$$\sigma(z) = \Lambda_2^{-1}p = \sigma(0) \exp \left(\int_0^z p(z) dz \right). \quad (9)$$

Therefore inverting of the input-output map $\Lambda : \mathcal{S} \mapsto \Psi$ can be reduced to inverting of the operator Λ_1 , or solving the operator equation (8). Due to measurement errors this problem may not have a solution in any suitable class of admissible coefficients. For this reason we introduce the following auxiliary (cost) functional [17]

$$J(p) = \int_0^{\infty} (\Lambda_1(p) - \psi(r))^2 r dr, \quad p \in P, \quad (10)$$

and consider the minimization problem

$$J(p^*) = \inf_{p \in P} J(p), \quad p \in P, \quad (11)$$

in the class of admissible reflection coefficients

$$P = \{p(z) \in C^1[0, H], p(0) = 0, \Lambda_2^{-1} \in S\}.$$

The function $\sigma^*(z) = \Lambda_2^{-1} p^*$ will be defined to be a quasisolution of the inverse problem (1)-(3).

Note that existing in literature numerical methods are usually based on to direct reconstruction of the conductivity coefficient $\sigma(z)$ ([1], [13]). Computational realization of these methods have well-known difficulties related to ill-conditionedness of the considered inverse problem. In particular, the numerical algorithm proposed in [1] requires a regularization at each step of iterations. In the second part of this study we will show that the constructed here numerical algorithm, based on the factorization $\Lambda = \Lambda_1 \Lambda_2$ of the input-output map Λ , does not require any regularization.

The paper is organized as follows. Some preliminary results and estimations related to the transformed by the Bessel-Fourier transformation potential $V(\lambda, z)$ are given in Section 2. Fréchet differentiability of the cost functional (10) is derived in Section 3. In the final Section 4 the Lipschitz continuity of gradient of the cost functional (10) is proved in class of reflection functions $p(z)$, when the derivative $p'(z)$ is of Hölder class.

2. Preliminary estimations

Let us use the following representation of the direct problem solution $u(r, z)$:

$$u(r, z) = -\frac{1}{\sigma(0)\sqrt{r^2 + z^2}} + \bar{u}(r, z), \quad \bar{u}(r, z) = O(r^{-1}), \quad r \rightarrow \infty, \quad (12)$$

where $\bar{u}(r, z)$ is a bounded and regular function. Based on this representation and condition (3), we define the set of measured output data Ψ as follows:

$$\Psi = \{\psi(r) | \psi(r) = \frac{1}{\sigma(0)r^2} + \bar{\psi}(r), \int_0^{\infty} |\bar{\psi}(r)| \sqrt{r} dr < \infty, \quad 0 < r < \infty\}. \quad (13)$$

Denote by $V(\lambda, z)$ the Bessel-Fourier transformation of the function $u(r, z)$ with respect to the variable $r \geq 0$:

$$V(\lambda, z) = \int_0^{\infty} u(r, z) J_0(\lambda r) r dr = -\frac{e^{-\lambda z}}{\sigma(0)\lambda} + \int_0^{\infty} \bar{u}(r, z) J_0(\lambda r) r dr.$$

Then we have

$$V(\lambda, z) = -\frac{e^{-\lambda z}}{\sigma(0)\lambda} + \bar{V}(\lambda, z). \quad (14)$$

It was shown in [16], the above right hand side integral exists, converges uniformly, and the function $V(\lambda, z)$ satisfies the following parameter-dependent two-point boundary value problem

$$\begin{cases} \frac{d}{dz} \left[\sigma(z) \frac{dV}{dz} \right] - \lambda^2 \sigma(z) V = 0, \\ \sigma(0) \frac{dV}{dz} \Big|_{z=0} = 1, \quad V|_{z=H} = 0 \end{cases} \quad (15)$$

for ordinary differential equation. Now we define the Bessel-Fourier transformation of the measured output data $\psi(r)$,

$$\varphi(\lambda) = \int_0^\infty \psi(r) J_1(\lambda r) r dr, \quad (16)$$

by taking into account (13). Then the transformed the measured output data $\varphi(r)$ has the form:

$$\varphi(\lambda) = -\frac{1}{\sigma(0)} + \int_0^\infty \bar{\psi}(r) J_1(\lambda r) r dr. \quad (17)$$

This, with the unitarity of the Bessel-Fourier transformation, imply that in view of the function $V(\lambda, z)$ the cost functional has the following form:

$$J(\sigma(p(z))) := \int_0^\infty [\psi(r) - \frac{\partial u}{\partial r}(r, 0)]^2 r dr = \int_0^\infty [\varphi(\lambda) - \lambda V(\lambda, 0)]^2 \lambda d\lambda. \quad (18)$$

Due to representation (12) and definition (13) the function $\psi(r)$ has the singularity at $r = 0$. However the difference of any two functions from the of measured output data Ψ is square integrable, which means that the right hand side integral in (18) exists.

To analyze the transformed functional (18) with help of problem (15) let us use the following transformation:

$$x(z) = \int_0^z \frac{d\xi}{\sigma(\xi)}, \quad x \in [0, H_1], \quad H_1 = \int_0^H \frac{dz}{\sigma(z)}. \quad (19)$$

Then equation (15) becomes

$$\frac{d^2 y}{dx^2} - \lambda^2 s^2(x) y(x) = 0, \quad x \in [0, H_1]. \quad (20)$$

Here $s(x) = \sigma(z(x))$, $0 \leq \sigma_1 < s(x) \leq \sigma_2$, and $\sigma_1 = \min_{[0, H_1]} \sigma(z)$, $\sigma_2 = \max_{[0, H_1]} \sigma(z)$.

It is well-known that ([4],[19]) the transformed equation (20) has two fundamental solutions with the following asymptotic representations

$$\begin{cases} y_{1,2}(x, \lambda) = s^{-1/2} \exp(\pm \lambda z(x)) (1 + \varepsilon_{1,2}(x, \lambda)/\lambda), \\ y'_{1,2}(x, \lambda) = \pm \lambda s^{1/2} \exp(\pm \lambda z(x)) (1 + \varepsilon_{3,4}(x, \lambda)/\lambda), \end{cases} \quad (21)$$

when $\lambda \rightarrow \infty$ uniformly with respect to $x \in [0, H_1]$. Here

$$|\varepsilon_j(x, \lambda)| \leq C_\varepsilon, \quad x \in [0, H_1], \quad \lambda \geq \lambda_0 > 0, \quad j = \overline{1, 4}.$$

For convenience, in subsequent we will use another equivalent system of fundamental solutions, satisfying the following boundary conditions:

$$y_1(0, \lambda) = 1, \quad y_1'(0, \lambda) = 0; \quad y_2(0, \lambda) = 0, \quad y_2'(0, \lambda) = 1, \quad (22)$$

with the following asymptotics:

$$\begin{cases} y_1(x, \lambda) = s_0^{1/2} s^{-1/2} \cosh(\lambda z(x))(1 + \varepsilon_1(x, \lambda)/\lambda), \\ y_1'(x, \lambda) = \lambda^{-1} s_0^{-1/2} s^{1/2} \sinh(\lambda z(x))(1 + \varepsilon_2(x, \lambda)/\lambda), \\ y_2(x, \lambda) = s_0^{1/2} s^{-1/2} \lambda^{-1} \sinh(\lambda z(x))(1 + \varepsilon_3(x, \lambda)/\lambda), \\ y_2'(x, \lambda) = s_0^{-1/2} s^{1/2} \cosh(\lambda z(x))(1 + \varepsilon_4(x, \lambda)/\lambda), \end{cases} \quad (23)$$

where $|\varepsilon_j(x, \lambda)| \leq C_\varepsilon$, $x \in [0, H_1]$, $\lambda \geq \lambda_0 > 0$, $j = \overline{1, 4}$. The constant C_ε here depends on the norm $\|\sigma\|_{C^2}$ or, equivalently, on the norm $\|p\|_{C^1}$ (see, [4],[19]). Hence for all functions $p \in P_D$ from the class $P_D = \{p : \|p\|_{C^1} \leq D\}$ the constant C_ε as well as the parameter λ_0 can be assumed to be the same.

Let us define now the conductivity ratio $\kappa := \sigma_2/\sigma_1$, which characterizes the contrastness of the medium.

Applying the comparison theorem to the pairs of functions $\langle y_1(x, \lambda), y_0(x) \equiv 1 \rangle$, $\langle y_1(x, \lambda), u(x, \lambda) = \cosh(\lambda \sigma_2 x) \rangle$ we conclude that

$$1 \leq y_1(x, \lambda) \leq \cosh(\lambda \sigma_2 x) \leq \cosh(\lambda \kappa z), \quad x \in [0, H_1]. \quad (24)$$

Further, it easily follows from the equation and boundary conditions that the function $y_1(x, \lambda)$ is a monotone increasing one.

To establish the necessary properties of the cost functional we need the following estimates.

LEMMA 2.1 *Let $p(z), \delta p(z) \in P_D$, and the functions $V(\lambda, z)$ and $V(\lambda, z) + \delta V(\lambda, z)$ be the corresponding solutions of the boundary value problem (15). Then for $z \in [0, H]$ ($x \in [0, H_1]$), $\lambda \geq 0$ the following estimates, and for $\lambda_0 > 0$ the asymptotic estimates hold:*

$$\begin{aligned} e1) \quad & V(\lambda, z) \leq 0, \quad V'(\lambda, z) \geq 0; \\ e2) \quad & |V(\lambda, z)| \leq \frac{H-z}{\sigma_1}; \\ & \forall \delta \in (0, 1), \quad \exists \lambda_0 > 0, \quad |V(\lambda, z)| \leq \frac{1+\delta}{\sigma_1 \lambda} \exp(-\lambda z), \quad \forall \lambda \geq \lambda_0; \\ e3) \quad & |\sigma(z)V'(\lambda, z)| \leq 1, \quad |V'(\lambda, z)| \leq \frac{1}{\sigma_1}, \\ & \left| \frac{dV(\lambda, z)}{dz} \right| \leq \frac{1+\delta}{\sigma_1} \exp(-\lambda z), \quad \forall \lambda \geq \lambda_0; \\ e4) \quad & |\delta V(\lambda, z)| \leq \frac{C_1(\lambda_0, \kappa, H)}{\sigma_1} \|\delta p(z)\|_C, \quad 0 \leq \lambda \leq \lambda_0, \\ & |\delta V(\lambda, z)| \leq \frac{C_2 \kappa^3}{\sigma_1 \lambda^3} \|\delta p(z)\|_{C_1}, \quad \forall \lambda \geq \lambda_0; \\ e5) \quad & |\delta V(\lambda, z)| \leq \frac{C_2 \kappa^3 \Gamma(\alpha)}{\sigma_1 \lambda^{3+\alpha}} \|\delta p(z)\|_{C^{1+\alpha}}, \quad \forall \delta p \in C^{1+\alpha}[0, H], \quad \forall \lambda \geq \lambda_0; \\ e6) \quad & |\sigma(z)\delta V'(\lambda, z)| \leq \kappa C_3 \|\delta p(z)\|_{C^1}, \quad \forall \lambda \geq 0, \\ & |\sigma(z)\delta V'(\lambda, z)| \leq \frac{C_4 \kappa^4}{\lambda} \|\delta p(z)\|_{C^1}, \quad \forall \lambda \geq \lambda_0, \end{aligned}$$

where constants C_1, C_2, C_3, C_4 depend only on $H, C_\varepsilon, \lambda_0$.

Proof e1). Multiplying the equation (15) by the function $V(\lambda, z)$, integrating on $[z, H]$ and using the boundary conditions we obtain the following energy identity:

$$\int_z^H \sigma(z)(V'^2(\lambda, z) + \lambda^2 V^2(\lambda, z)) dz = -\sigma(z)V'(\lambda, z)V(\lambda, z). \quad (25)$$

Substituting in (25) $z = 0$ and taking into account the boundary condition we conclude $V(\lambda, 0) < 0$. To prove $V(\lambda, 0) \leq 0, \forall z \in [0, H]$, we assume that $\exists z_0 \in (0, H)$ such that $V(\lambda, z_0) > 0$. Due continuity, $\exists z_1 \in (0, z_0), V(\lambda, z_1) = 0$. By the boundary condition $V(\lambda, H) = 0$ and Rolle's theorem the function $V(\lambda, z)$ has a positive maximum at $z_2 \in (z_1, H)$, and $V(\lambda, z_2) > V(\lambda, z_0) > 0$. Then by the conditions $V'(\lambda, z_2) = 0, V''(\lambda, z_2) \leq 0$ equation (25) at $z = z_2$ yields

$$\lambda^2 V(\lambda, z_2) = \sigma(z_2)V''(\lambda, z_2) + \sigma'(z_2)V'(\lambda, z_2) = \sigma(z_2)V''(\lambda, z_2) \leq 0.$$

This contradiction implies that $V(\lambda, 0) \leq 0, \forall z \in [0, H]$.

The second assertion of *e1*) follows from the positivity of the right hand side of (25).

e2). Let us apply transformation (19) to problem (15). Then the function $y(x, \lambda) = V(\lambda, z(x))$ will be the solution of equation (20) and satisfies the boundary conditions

$$y'(0, \lambda) = 1, \quad y(H_1, \lambda) = 0. \quad (26)$$

Consider the difference $\Delta y(x, \lambda) = y(x, \lambda) - (x - H_1), x \in [0, H_1]$. Then equation (20) and the estimate $V(\lambda, 0) \leq 0$ imply

$$\frac{d^2 \Delta y}{dx^2} = \lambda^2 s^2 y \leq 0.$$

Hence

$$\frac{d \Delta y}{dx}(x, \lambda) \leq \frac{d \Delta y}{dx}(0, \lambda) = 0, \quad \forall x \in [0, H_1]. \quad (27)$$

This, with the boundary condition, $y(H_1, \lambda) = 0$ implies

$$\Delta y = - \int_x^{H_1} \frac{d \Delta y}{dx} dx \geq 0, \quad \forall x \in [0, H_1],$$

which is equivalent to the condition: $V(\lambda, z) \geq x(z) - H_1$. Taking into account the sign of the function $V(\lambda, z)$ we obtain the first part of the assertion *e2*):

$$|V(\lambda, z)| \leq H_1 - x(z) = \int_z^H \frac{dz}{\sigma(z)} \leq \frac{H - z}{\sigma_1}.$$

To prove the second part of the assertion *e2*) we introduce the function

$$y(x(z), \lambda) = y_2(x(z), \lambda) - \frac{y_2(H_1, \lambda)}{y_1(H_1, \lambda)} y_1(x(z), \lambda),$$

i.e. the linear combination of the fundamental solutions. Evidently this function satisfies the boundary condition (26). Then the function

$$V(\lambda, z) = y_2(x(z), \lambda) - \frac{y_2(H_1, \lambda)}{y_1(H_1, \lambda)} y_1(x(z), \lambda), \quad (28)$$

obtained from the function $y(x(z), \lambda)$ by transformation (19) will be the solution of problem (15): $V(\lambda, z) = y(x(z), \lambda)$. Hence we may use the asymptotic formula (23) for the function $V(\lambda, z), \forall \lambda > \lambda_0, \lambda_0 > 0$:

$$V(\lambda, z) = y(x(z), \lambda) = \frac{1}{\lambda \sqrt{\sigma(0)\sigma(x)}} \frac{\sinh \lambda(z - H)}{\cosh \lambda H} \left[1 + \frac{\varepsilon(x, \lambda)}{\lambda} \right], \quad |\varepsilon(x, \lambda)| \leq C_\varepsilon.$$

By the asymptotic behaviour of the hyperbolic functions we obtain the required second estimate of $e2)$:

$$|V(\lambda, z)| \leq \frac{1 + \beta}{\lambda \sqrt{\sigma(0)\sigma(x)}} \exp(-\lambda z) \leq \frac{1 + \beta}{\lambda \sigma_1} \exp(-\lambda z), \quad \forall \beta \in (0, 1), \quad \forall \lambda > \lambda_0.$$

$e3)$. From inequality (27) we may conclude $(\Delta y(x, \lambda))' = y'(x, \lambda) - 1 \leq 0$ which implies

$$y'(x, \lambda) = \sigma(z)V'(\lambda, z) = |\sigma(z)V'(\lambda, z)| \leq 1.$$

In particular, $|V'(\lambda, z)| \leq 1/\sigma_1$, $\sigma_1 > 0$.

To prove the third assertion of $e3)$ let us differentiate (28) and use the asymptotic representation (23). Then we have:

$$y'(x(z), \lambda) = \sigma(z) \frac{dV(\lambda, z)}{dz} = \frac{\sqrt{\sigma(z)}}{\sqrt{\sigma(0)}} \frac{\cosh \lambda(H - z)}{\cosh \lambda H} \left[1 + \frac{\varepsilon(z, \lambda)}{\lambda} \right], \quad |\varepsilon(z, \lambda)| \leq C_\varepsilon \quad (29)$$

Due to the asymptotic of hyperbolic cosine we conclude that $\exists \lambda_0 > 0$ such that

$$\left| \frac{dV(\lambda, z)}{dz} \right| \leq \frac{1 + \beta}{\sqrt{\sigma(z)}\sqrt{\sigma_0}} (\exp(-\lambda z) \leq \frac{1 + \beta}{\sigma_1} \exp(-\lambda z), \quad \forall \lambda \geq \lambda_0, \quad \forall \beta \in (0, 1). \quad (30)$$

Evidently choice of the parameter $\lambda_0 > 0$ depends on the constant $C_\varepsilon > 0$, since $\lambda_0 > C_\varepsilon/\beta$. For this reason in subsequence the dependency on the parameter $\lambda_0 > 0$ will be replaced by the dependency on the constant $C_\varepsilon > 0$.

$e4)$. Let us rewrite equation (15) taking into account transformation (7):

$$\frac{d^2 V}{dz^2} + p(z) \frac{dV}{dz} - \lambda^2 V = 0.$$

Evidently the function $\delta V(\lambda, z)$ satisfies the nonhomogeneous equation

$$\frac{d^2 \delta V}{dz^2} + p(z) \frac{d\delta V}{dz} - \lambda^2 \delta V = -\frac{d(V + \delta V)}{dz} \delta p(z). \quad (31)$$

Using here transformation (19) we conclude that the function $g(x, \lambda) := \delta V(\lambda, z(x))$ satisfies the following second order nonhomogeneous equation and the boundary conditions:

$$\begin{cases} \frac{d^2 g}{dx^2} - \lambda^2 s^2(x)g(x, \lambda) = f(x, \lambda), & x \in [0, H_1], \\ g'(0, \lambda) = 0, & g(H_1, \lambda) = 0, \end{cases} \quad (32)$$

where the source term is defined as follows:

$$f(x, \lambda) = -s^2(x)z(x)\delta p(z(x)) \frac{d(V + \delta V)}{dz}. \quad (33)$$

The solution

$$\begin{aligned} \delta V(\lambda, z(x)) := g(x, \lambda) = & -\frac{y_2(H_1, \lambda)}{y_1(H_1, \lambda)} y_1(x, \lambda) \int_0^{H_1} y_1(t, \lambda) f(t, \lambda) dt + \\ & y_1(x, \lambda) \int_x^{H_1} y_2(t, \lambda) f(t, \lambda) dt + y_2(x, \lambda) \int_0^x y_1(t, \lambda) f(t, \lambda) dt \end{aligned}$$

of the two point problem (32) is obtained by the method of variation constants, which can be easily verified. Using here formula (28) we get

$$\delta V(\lambda, z(x)) = y(x, \lambda) \int_0^x f(t, \lambda) y_1(t, \lambda) dt + y_1(x, \lambda) \int_x^{H_1} f(t, \lambda) y(t, \lambda) dt. \quad (34)$$

Substituting in the right hand side formula (34) for the source term $f(x, \lambda)$ we obtain the following representation for the function $\delta V(\lambda, z(x))$:

$$\delta V(\lambda, z) = -V(\lambda, z) \int_0^z \sigma(V' + \delta V') \delta p(z) y_1(x(z)) dz - y_1(x(z)) \int_z^H \sigma(V' + \delta V') V(\lambda, z) \delta p(z) dz. \quad (35)$$

By the estimates obtained in $e1)$ we get

$$|\delta V(\lambda, z)| \leq |V(\lambda, z)| \int_0^z \sigma(V' + \delta V') |\delta p(z)| y_1(x(z), \lambda) dz + y_1(x(z), \lambda) \int_z^H \sigma(V' + \delta V') |V(\lambda, z)| |\delta p(z)| dz. \quad (36)$$

Assume that $0 < \lambda \leq \lambda_0$ for some $\lambda_0 > 0$. Then using estimates $e1)$, $e2)$ and (24) we get:

$$|\delta V(\lambda, z(x))| \leq \frac{\sigma_2 H}{\sigma_1^2} \int_0^x \cosh(\lambda \sigma_2 t) |\delta p| dt + \frac{\sigma_2 H}{\sigma_1^2} \cosh(\lambda \sigma_2 x) \int_x^H |\delta p| dt \leq \frac{\kappa H}{\sigma_1} \cosh(\lambda \sigma_2 x) \int_0^H |\delta p| dt,$$

which implies the first estimate of $e4)$:

$$|\delta V(\lambda, z)| \leq \frac{\kappa H^2}{\sigma_1} \cosh(\lambda_0 \kappa H) \|\delta p\|_C \leq \frac{\kappa C_1(C_\varepsilon, \kappa, H)}{\sigma_1} \|\delta p\|_C, \quad \forall \lambda \in (0, \lambda_0].$$

To obtain the second estimate of $e4)$ we note that the function $\delta p(z)$ satisfies the condition $\delta p(0) = 0$ in the class of functions P_D . Hence

$$|\delta p(z)| \leq z \|\delta p\|_{C^1}, \quad \forall z \in [0, H]. \quad (37)$$

This estimate, with the monotonicity and the sign of the function $V(\lambda, z(x))$, established in $e1)$, as well as the monotonicity of the fundamental solution $y_1(x, \lambda)$, permits one to improve the above obtained estimate (36):

$$\begin{aligned} |\delta V(\lambda, z)| &\leq |V(\lambda, z)| y_1(x(z)) \int_0^z \sigma(\zeta) (V' + \delta V') |\delta p| d\zeta \\ &\quad + |V(\lambda, z)| y_1(x(z)) \int_z^H \sigma(\zeta) (V' + \delta V') |\delta p| d\zeta \\ &\leq |V(\lambda, z)| y_1(x(z)) \sigma_2 \|\delta p\|_{C^1} \int_0^H \zeta (V' + \delta V') d\zeta. \end{aligned} \quad (38)$$

On the other hand, it follows from asymptotics (23) that $\forall \beta \in (0, 1)$, there exists $\lambda_0 > 0$ such that $\forall \lambda \geq \lambda_0$

$$y_1(x) \leq \frac{\sqrt{s_0}}{\sqrt{s(x)}} \exp(\lambda z) (1 + \beta) \leq \sqrt{\kappa} (1 + \beta) \exp(\lambda z).$$

We use this estimate with the second estimate of $e1$), and estimate (30), applied to the function $V' + \delta V'$ on the right hand side of (38). Then we arrive to the second estimate of $e4$):

$$|\delta V| \leq \frac{(1+\beta)^3}{\lambda\sigma_1} \exp(-\lambda z) \sqrt{\kappa} \exp(\lambda z) \|\delta p(z)\|_{C^1} \frac{\sigma_2}{\sigma_1} \int_0^H z \exp(-\lambda z) dz \leq \frac{C_2 \kappa^{3/2}}{\lambda^3 \sigma_1} \|\delta p(z)\|_{C^1}, \quad \forall \lambda \geq \lambda_0.$$

$e5$). Let now $\delta p \in C^{1+\alpha}[0, H]$. Then as in (37),

$$|\delta p(z)| \leq z^{1+\alpha} \|\delta p\|_{C^{1+\alpha}}.$$

Substitute this in (36), use the second estimates of $e2$) and $e3$) for the functions $V(\lambda, z)$, $V'(\lambda, z) + (\delta V(\lambda, z))'$, correspondingly, and use also the above estimate for the fundamental solution $y_1(x, \lambda)$. Then we obtain the required assertion of $e5$):

$$|\delta V(\lambda, z)| \leq \frac{(1+\beta)^3}{\lambda\sigma_1} \exp(-\lambda z) \sqrt{\kappa} \|\delta p(z)\|_{C^1} \frac{\sigma_2}{\sigma_1} \int_0^H z^{1+\alpha} \exp(-\lambda z) dz \leq \frac{C_2 \kappa^{3/2} \Gamma(\alpha)}{\lambda^{3+\alpha} \sigma_1} \|\delta p(z)\|_{C^{1+\alpha}}.$$

$e6$). We rewrite the nonhomogeneous equation (31) for the function $\delta V(\lambda, z)$:

$$(\sigma \delta V')' - \lambda^2 \sigma \delta V = -\sigma \delta p (V + \delta V)'.$$

Integrate this equation on $[0, H]$ and use the boundary conditions (32):

$$\sigma(z) \delta V'(z) = \int_0^z \lambda^2 \sigma(\zeta) \delta V(\lambda, \zeta) d\zeta - \int_0^z \sigma(\zeta) \delta p(\zeta) (V'(\lambda, \zeta) + \delta V'(\lambda, \zeta)) d\zeta. \quad (39)$$

Now we estimate the right hand side of (39) separately, for the cases $\lambda \leq \lambda_0$ and $\lambda > \lambda_0$, using estimate (37). Taking into account estimates of $e2$), $e3$) and $e5$) we get:

$$|\sigma(z) \delta V'(z)| \leq \frac{\sigma_2 C_1}{\sigma_1} \|\delta p\|_{C^1} H \lambda_0^2 + \sigma_2 \|\delta p\|_{C^1} \frac{H}{\sigma_1} \leq \kappa C_3(C_\varepsilon, \kappa, H) \|\delta p\|_{C^1}, \quad \lambda \leq \lambda_0;$$

$$\begin{aligned} |\sigma(z) \delta V'(z)| &\leq \frac{\sigma_2 C_2 \kappa^3}{\sigma_1 \lambda} \|\delta p\|_{C^1} + \sigma_2 \frac{(1+\delta)}{\sigma_1} \|\delta p\|_{C^1} \int_0^z \zeta \exp(-\lambda \zeta) d\zeta \leq \\ &\frac{C_2 \kappa^4}{\lambda} \|\delta p\|_{C^1} + 2\kappa \|\delta p\|_{C^1} \frac{1}{\lambda^2} \leq \frac{C_4 \kappa^4}{\lambda} \|\delta p\|_{C^1}, \quad \lambda > \lambda_0, \end{aligned}$$

which are the assertions of $e6$).

The lemma is proved. \square

The right hand side of the functional (18) contains the difference $\lambda V(\lambda, 0) - \varphi(\lambda)$. To estimate this difference we need the following

LEMMA 2.2 *Let $\sigma_0(z) \in S$, $z \in [0, H]$, be the conductivity coefficient corresponding to the measured data $\varphi(\lambda)$, and $p_0(z) = \ln(\sigma'_0(z)) \in P$. Assume that $\sigma(z) \in S$ is an arbitrary coefficient from the set of admissible coefficients S , $p(z) = \ln(\sigma'(z)) \in P$ and $V(\lambda, z)$ is the corresponding solutions of problem (15). Then the following estimates hold:*

$$\begin{cases} |\lambda V(\lambda, 0) - \varphi(\lambda)| \leq \frac{C_5}{\sigma_1}, & \forall \lambda \in [0, \lambda_0]; \\ |\lambda V(\lambda, 0) - \varphi(\lambda)| \leq \frac{C_6}{\sigma_1 \lambda^2}, & \forall \lambda \in (\lambda_0, \infty), \end{cases} \quad (40)$$

where the constants C_5 and C_6 depend only on the difference $\|p - p_0\|_{C^1}$, and on the positive constants C_ε, H, κ .

Proof Consider the difference $\Delta V(\lambda, z) = V_0(\lambda, z) - V(\lambda, z)$ satisfying the following equation

$$\frac{d^2 \Delta V}{dz^2} + p_0(z) \frac{d \Delta V}{dz} - \lambda^2 \Delta V = -\frac{dV}{dz}(p(z) - p_0(z)), \quad (41)$$

similar to equation (31). Applied the transformation (19) to the function $g(x, \lambda) = V_0(\lambda, z) - V(\lambda, z)$ we conclude that this function satisfies the boundary value problem (32) with the source function

$$f(x, \lambda) = -s_0^2(x)[p(z(x)) - p_0(z(x))]\frac{dV}{dz}. \quad (42)$$

The solution of the boundary value problem (32) and (42) can also be represented in the form of (34), assuming here the source function (42). For $z = 0$ this formula implies

$$\Delta V(\lambda, 0) = -\int_0^H \sigma_0(z) V(\lambda, z) V_0'(\lambda, z) (p(z) - p_0(z)) dz. \quad (43)$$

Then from the estimate $e_4)$ for $0 \leq \lambda \leq \lambda_0$ we get

$$|\lambda \Delta V(\lambda, 0)| \leq \frac{C_1}{\sigma_1} \|p(z) - p_0(z)\|_C \equiv \frac{C_5}{\sigma_1},$$

which is the first assertion of the lemma. To derive the second assertion of the lemma for $\lambda > \lambda_0$, we use the second assertions of $e_2)$ and $e_3)$ for the functions $V_0(\lambda, z)$ and $V(\lambda, z)$. Then $\forall \beta \in (0, 1)$, $\exists \lambda_0 > 0$ such that $\forall \lambda \geq \lambda_0$

$$|V_0(\lambda, z)| \leq \frac{(1 + \beta)}{\lambda \sigma_1} \exp(-\lambda z), \quad (44)$$

$$\sigma_0(z) \frac{dV}{dz} \leq \frac{(1 + \beta) \sigma_0(z)}{\sqrt{\sigma(z) \sigma(0)}} \exp(-\lambda z) \leq \kappa (1 + \beta) \exp(-\lambda z). \quad (45)$$

Now we use estimate (37) for the function $p - p_0$. Since $p(0) = p_0(0) = 0$ from the definition of the set P we get:

$$|p - p_0| \leq z \|p - p_0\|_{C^1}.$$

Applying estimates (44) and (45) in (43) we obtain:

$$\begin{aligned} |\lambda \Delta V(\lambda, 0)| &\leq \frac{(1 + \beta)^2 \kappa}{\sigma_1} \|p - p_0\|_{C^1} \int_0^H \exp(-2\lambda z) z dz \\ &\leq \frac{(1 + \beta)^2 \kappa}{4\lambda^2 \sigma_1} \|p - p_0\|_{C^1} \equiv \frac{C_6(\kappa, C_\varepsilon, \|p - p_0\|_{C^1})}{\sigma_1 \lambda^2}. \end{aligned}$$

Since $\lambda \Delta V(\lambda, 0) = \lambda V(\lambda, 0) - \varphi(\lambda)$, the last estimate with (44) implies the second assertion of the lemma. \square

3. The Fréchet differentiability of the cost functional

The following result shows that the transformed cost functional $J(p)$ is of Fréchet differentiable. Moreover, it permits to derive the Fréchet derivative explicitly, in the integral form.

THEOREM 3.1 *Let \mathcal{S} be the set of admissible coefficients defined by (4), and $P = \{p(z) \in C^1[0, H], p(0) = 0, \Lambda_2^{-1} \in \mathcal{S}\}$ be the set of reflection functions. Then the cost functional $J(p)$, $p(z) \in P$ is a Fréchet differentiable one, and its Fréchet derivative is:*

$$\nabla J(p) = -2\sigma_0 \exp\left(\int_0^z p(\zeta) d\zeta\right) \int_0^\infty (\lambda V(\lambda, 0) - \varphi(\lambda)) V(\lambda, z) V'(\lambda, z) \lambda^2 d\lambda. \quad (46)$$

Proof Let $\delta p(z) \in P$ be an admissible increment. We need to show that the increment of the cost functional $J(p)$, given by (18), has the form

$$\Delta J(p) := J(p + \delta p) - J(p) = \langle \nabla J, \delta p \rangle + o(\|\delta p\|) = \int_0^H q(z) \delta p(z) dz + o(\|\delta p\|_{C([0, H])}), \quad (47)$$

for some function $q(z) \in L_2[0, H]$. Let us first rewrite the increment of the cost functional $J(p)$ in the following form:

$$\Delta J(p) = J(p + \delta p) - J(p) = 2 \int_0^\infty [\lambda V(\lambda, 0) - \varphi(\lambda)] \delta V(\lambda, 0) \lambda^2 d\lambda + \int_0^\infty \lambda^2 \cdot \delta V^2(\lambda, 0) \lambda d\lambda. \quad (48)$$

We derive now the increment $\delta V(\lambda, 0)$ via the increment $\delta p(z)$. For this aim we use formula (35) at $z = 0$ by taking into account the boundary condition (15)

$$\delta V(\lambda, 0) = - \int_0^H \sigma(z) V(\lambda, z) (V' + \delta V') \delta p(z) dz \equiv - \int_0^H \sigma(z) V(\lambda, z) V'(\lambda, z) \delta p(z) dz + r_3(\lambda), \quad (49)$$

where the residual term $r_3(\lambda)$ is

$$r_3(\lambda) = - \int_0^H \sigma(z) V(\lambda, z) \delta V'(\lambda, z) \delta p(z) dz.$$

Formulas (48) and (49) imply that the increment of the cost functional $J[p]$ has the following form:

$$\Delta J = -2 \int_0^\infty (\lambda V(\lambda, 0) - \varphi(\lambda)) \lambda^2 \int_0^H \sigma(z) V(\lambda, z) V'(\lambda, z) \delta p(z) dz d\lambda + r_0(\lambda), \quad (50)$$

with the residual function

$$r_0(\lambda) = 2 \int_0^\infty (\lambda V(\lambda, 0) - \varphi(\lambda)) \lambda^2 r_3(\lambda) d\lambda + \int_0^\infty \beta V^2(\lambda, 0) \lambda^3 d\lambda. \quad (51)$$

According to estimates $e2)$, $e3)$ and (37), for enough large $\lambda > \lambda_0$ the interior integral in (50) can be estimated as follows:

$$\left| \int_0^H \sigma(z) V(\lambda, z) V'(\lambda, z) \beta p(z) dz \right| \leq \frac{\kappa(1 + \beta)^2}{\lambda \sigma_1} \|\delta p\|_{C^1} \int_0^H z \exp(-2\lambda z) dz = O(\lambda^{-3}) \|\delta p\|_{C^1}.$$

Hence the improper integral in (50) converges, due to the first estimate (40). Let us change the order of integration in (50). By estimates $e2)$, $e3)$, (37) and (40), this integral, depending on the variable z ,

uniformly converges when $z \in [0, H]$, since for enough large $\lambda > \lambda_0$, the majorant integral converges and does not depend on $z \in [0, H]$:

$$\begin{aligned} & \left| \int_{\lambda_0}^H \sigma(z)V(\lambda, z)V'(\lambda, z)\delta p(z)dz(\lambda V(\lambda, 0) - \varphi(\lambda))\lambda^2 d\lambda \right| \\ & \leq \frac{\kappa(1+\delta)^2 C_6}{\sigma_1^2} \|\delta p\|_{C^1} \int_{\lambda_0}^{\infty} \frac{z \exp(-2\lambda z)}{\lambda} d\lambda \leq \frac{4\kappa C_6}{\sigma_1^2} \|\delta p\|_{C^1} \int_{\lambda_0}^{\infty} \frac{\exp(-1)d\lambda}{2\lambda^2}. \end{aligned}$$

Therefore we may change the order of integration in (50), and rewrite the linear (with respect to δp) part of the increment $\delta J(p)$ of the cost functional in the following form:

$$\delta J = -2 \int_0^H \sigma(z) \left(\int_0^{\infty} (\lambda V(\lambda, 0) - \varphi(\lambda)) \lambda^2 V(\lambda, z) V'(\lambda, z) d\lambda \right) \delta p(z) dz. \quad (52)$$

By the definition of the Fréchet differential we need to prove that the residual function $r_0(\lambda)$ is of order $o(\|\delta p\|_{C^1}^q)$, $q \geq 2$. For this aim first we estimate the residual function $r_3(\lambda)$, using the estimates $e2)$, $e6)$ and (37). We have

$$\begin{aligned} |r_3(\lambda)| & \leq \left| \int_0^H \sigma(z)V(\lambda, z)\delta V'(\lambda, z)\delta p(z)dz \right| \\ & \leq \frac{C_4 \kappa^4}{\lambda} \|\delta p\|_{C^1}^2 \frac{(1+\beta)}{\lambda \sigma_1} \int_0^H z \exp(-2\lambda z) dz \leq O(\lambda^{-4}) \|\delta p\|_{C^1}^2. \end{aligned} \quad (53)$$

The second term in (51) can be estimated by using estimates $e4)$:

$$|\delta V^2(\lambda, 0)\lambda^3| = O(\lambda^{-3}) \|\delta p\|_{C^1}^2, \quad \forall \lambda \geq 0. \quad (54)$$

Hence $r_0(\lambda) = o(\|\delta p\|_{C^1}^q)$, and the lemma is proved. \square

4. Lipschitz continuity of gradient of the cost functional

To apply any gradient method for the numerical solution of the minimization problem (10)-(11), one needs an estimation of the iteration parameter $\alpha_n > 0$ in the iteration process $p^{(n+1)} = p^{(n)} - \alpha_n \nabla J(p^{(n)})$, $n = 0, 1, 2, \dots$, where $p^{(0)}$ is a given initial iteration. In the case of Lipschitz continuity of the gradient $\nabla J(p)$ the parameter α_n can be estimated via the Lipschitz constant, which subsequently improves convergence properties of the iteration process ([18]). The following theorem shows that in the subset $\mathcal{P} = \{p(z) \in P : p(z) \in C^{1+\alpha}[0, H], \|p(z)\|_{C^{1+\alpha}[0, H]} \leq D, D < \infty\}$ of reflection functions the gradient $\nabla J(p)$ of the transformed cost functional is a Lipschitz continuous one.

THEOREM 4.1 *Let $\mathcal{P} = \{p(z) \in P : p(z) \in C^{1+\alpha}[0, H], \|p(z)\|_{C^{1+\alpha}[0, H]} \leq D, D < \infty\}$ be the subset of reflection functions in the set of admissible reflection coefficients P . Then gradient $\nabla J(p)$ of the transformed cost functional, defined by (18) is Lipschitz continuous in $\mathcal{P} \subset P$, i.e.*

$$\|\nabla J[p_1] - \nabla J[p]\|_{C[0, H]} \leq L \|p_1 - p\|_{C^{1+\alpha}[0, H]}, \quad \forall p, p_1 \in \mathcal{P},$$

where the Lipschitz constant L is increasing function of the conductivity ratio $\kappa = \sigma_2/\sigma_1$, inversely proportional to σ_1^2 , and depends only on the positive constants H, C_ε, α .

Proof We rewrite the gradient formula (46) in the following convenient form:

$$\nabla J[p] = 2 \int_0^{\infty} (\lambda V(\lambda, 0) - \varphi(\lambda)) I(\lambda, z) \lambda^2 d\lambda,$$

where

$$I(\lambda, z) = -\sigma_0 V(\lambda, z) V'(\lambda, z) \exp\left(\int_0^z p(t) dt\right) = -\sigma(z) V(\lambda, z) V'(\lambda, z),$$

by transformation (9). Assume that the pairs $V(\lambda, z)$, $I(\lambda, z)$ and $V_1(\lambda, z)$, $I_1(\lambda, z)$ correspond to the above given functions $p, p_1 \in \mathcal{P}$. Denote by $\delta V(\lambda, z) = V_1(\lambda, z) - V(\lambda, z)$, $\delta I(\lambda, z) = I_1(\lambda, z) - I(\lambda, z)$. Transforming the difference $\nabla J[p_1] - \nabla J[p]$ as

$$\nabla J[p_1] - \nabla J[p] = 2 \int_0^\infty \lambda^3 \delta V(\lambda, 0) I_1(\lambda, z) d\lambda + 2 \int_0^\infty (\lambda V(\lambda, 0) - \varphi(\lambda)) \delta I(\lambda, z) \lambda^2 d\lambda, \quad \forall p, p_1 \in \mathcal{P}$$

we can estimate the right hand side as follows:

$$\nabla J[p_1] - \nabla J[p] \leq 2 \int_0^\infty |\delta V(\lambda, 0) I_1(\lambda, z)| \lambda^3 d\lambda + 2 \int_0^\infty |(\lambda V(\lambda, 0) - \varphi(\lambda)) \delta I(\lambda, z)| \lambda^2 d\lambda. \quad (55)$$

To estimate the first right hand side integral we use Lemma 2.1:

$$|I_1(\lambda, z)| \leq \frac{H}{\sigma_1}, \quad \lambda \leq \lambda_0,$$

$$|I_1(\lambda, z)| \leq |(\sigma + \delta\sigma) V_1' V_1| \leq 1 \cdot \frac{(1 + \beta)}{\lambda \sigma_1} \exp(-\lambda z), \quad \lambda \geq \lambda_0.$$

Then we get

$$2 \int_0^\infty |\delta V(\lambda, 0) I_1(\lambda, z)| \lambda^3 d\lambda \leq 2 \int_0^{\lambda_0} |\delta V(\lambda, 0) I_1(\lambda, z)| \lambda^3 d\lambda + 2 \int_{\lambda_0}^\infty |\delta V(\lambda, 0) I_1(\lambda, z)| \lambda^3 d\lambda \leq$$

$$\frac{2C_1 H}{\sigma_1^2} \|\delta p(z)\|_{C^1} \int_0^{\lambda_0} \lambda^3 d\lambda + \frac{2C_2 \kappa^3 \Gamma(\alpha)}{\sigma_1} \frac{(1 + \beta)}{\sigma_1} \|\delta p\|_{C^{1+\alpha}} \int_{\lambda_0}^\infty \frac{\exp(-\lambda z)}{\lambda^{1+\alpha}} d\lambda.$$

Hence

$$2 \int_0^\infty |\delta V(\lambda, 0) I_1(\lambda, z)| \lambda^3 d\lambda \leq \frac{C_7(C_\varepsilon, \kappa, H, \alpha) \kappa^3}{\sigma_1^2} \|\delta p(z)\|_{C^{1+\alpha}} \quad (56)$$

To estimate the second right hand side integral of (55) we rewrite the increment $\delta I(\lambda, z)$ in the following form:

$$\delta I(\lambda, z) = -\delta\sigma(z) V' V - \delta(V' V) \sigma(z) \equiv \delta A + \delta B, \quad (57)$$

and estimate the terms δA , δB separately. For this aim let first express the increment $\delta\sigma(z)$ via the increment $\delta p(z)$, by using (9). We have:

$$\delta\sigma(z) = \sigma_0 \exp\left(\int_0^z p(t) dt\right) \left[\exp\left(\int_0^z \delta p(t) dt\right) - 1 \right] = \sigma(z) \left[\exp\left(\int_0^z \delta p(t) dt\right) - 1 \right]. \quad (58)$$

Introducing the auxiliary function

$$f(\theta) = \exp\left(\theta \int_0^z \delta p(t) dt\right), \quad \theta \in R,$$

for a given $z \in [0, H]$, and using the Taylor's formula

$$f(\theta) = 1 + \theta \int_0^z \delta p(t) dt \cdot \exp \left(\xi \int_0^z \delta p(t) dt \right), \quad \xi \in [0, \theta],$$

we obtain that the right hand side of (58) is $\sigma(z)[f(1) - 1]$. Hence:

$$\delta\sigma(z) = \sigma(z) \exp \left(\xi \int_0^z \delta p(t) dt \right) \left(\int_0^z \delta p(t) dt \right), \quad \xi \in [0, \theta].$$

Introducing here the new function

$$\sigma_\xi(z) = \sigma(z) \exp \left(\xi \int_0^z \delta p(t) dt \right), \quad z \in [0, H], \quad (59)$$

we conclude that the increment $\delta\sigma(z)$ has the form:

$$\delta\sigma_\xi(z) = \sigma_\xi(z) \left(\int_0^z \delta p(t) dt \right), \quad \xi \in [0, 1]. \quad (60)$$

Evidently, for $p(z), p(z) + \delta p(z) \in P$, the function $\sigma_\xi(z)$, given by (59), has the same properties, as the function $\sigma(z) \in S$. Specifically, if

$$\int_0^z \delta p(t) dt < 0, \quad \forall z \in [0, H],$$

then formulas (59)-(60) imply that $\sigma_1 \leq \sigma(z) + \delta\sigma(z) \leq \sigma_\xi(z) \leq \sigma(z) \leq \sigma_2$, and hence $\sigma_\xi(z) \in S$. The same conclusion is obtained in the converse case, if the above integral is positive.

Let us estimate now the terms $\delta A, \delta B$ in (57). We use estimations $e2), e3)$, and auxiliary formulas (59)-(60) to estimate the term δA for the cases $\lambda \leq \lambda_0$ and $\lambda \geq \lambda_0$, separately:

$$|\delta A| \leq |\delta\sigma(z)V'V| \leq \frac{\sigma_2 H}{\sigma_1^2} \int_0^z |\delta p(t)| dt \leq \frac{\kappa H^2}{\sigma_1} \|\delta p\|_C, \quad \lambda \leq \lambda_0; \quad (61)$$

$$\begin{aligned} |\delta A| &\leq |\delta\sigma(z)V'V| \leq \sigma_2 \int_0^z |\delta p(t)| dt \cdot \frac{(1+\beta)^2}{\lambda \sigma_1^2} \exp(-2\lambda z) \\ &\leq \frac{\kappa(1+\beta)^2}{\lambda \sigma_1} z \exp(-2\lambda z) \|\delta p\|_C \leq \frac{\kappa(1+\beta)^2}{2\lambda^2 \sigma_1} \|\delta p\|_C, \quad \lambda \geq \lambda_0. \end{aligned} \quad (62)$$

To estimate the term δB we rewrite it in the form $\delta B = -(\delta V'V + V_1' \delta V)\sigma(z)$. Then we have: $\delta B \leq |\sigma(z)\delta V'| |V_1| + |\sigma(z)V_1'| |\delta V|$. Applying the estimates $e2), e3), e5), e6)$ we conclude

$$|\delta B| \leq \kappa C_3 \|\delta p\|_C \frac{H}{\sigma_1} + \frac{\sigma_2 C_1}{\sigma_1 \sigma_1} \|\delta p\|_C \leq \frac{\kappa C_8}{\sigma_1} \|\delta p\|_C, \quad \lambda \leq \lambda_0, \quad (63)$$

$$|\delta B| \leq \frac{\kappa^4 C_4}{\lambda} \|\delta p\|_{C^1} \frac{(1+\beta)}{\lambda \sigma_1} + \frac{\sigma_2 C_2 \kappa^3}{\sigma_1 \sigma_1 \lambda^3} \|\delta p\|_{C^1} \leq \frac{\kappa^4 C_9}{\lambda^2 \sigma_1} \|\delta p\|_{C^1}, \quad \lambda \geq \lambda_0. \quad (64)$$

Having estimates (61)-(64), and using Lemma 2.2, we may now estimate the second right hand side integral in (55):

$$2 \int_0^{\infty} |\lambda V(\lambda, 0) - \varphi(\lambda)| |\delta I| \lambda^2 d\lambda \leq 2 \int_0^{\lambda_0} \frac{C_5}{\sigma_1} \left[\frac{\kappa H^2}{\sigma_1} \|\delta p(t)\|_C + \frac{\kappa C_8}{\sigma_1} \|\delta p\|_C \right] \lambda^2 d\lambda$$

$$+ 2 \int_{\lambda_0}^{\infty} \frac{C_6}{\sigma_1} \left[\frac{\kappa(1+\beta)^2}{2\sigma_1 \lambda^2} \|\delta p(t)\|_C + \frac{C_9 \kappa^4}{\sigma_1 \lambda^2} \|\delta p\|_{C^1} \right] d\lambda \leq \frac{\kappa^4 C_{10}(C_\varepsilon, \kappa, H, \alpha)}{\sigma_1^2} \|\delta p\|_{C^{1+\alpha}}.$$

This result, with (56), allows to estimate the difference $\nabla J[p_1] - \nabla J[p]$, given by (55):

$$\|\nabla J[p_1] - \nabla J[p]\|_{C[0,H]} \leq \frac{C_7 \kappa^3}{\sigma_1^2} \|\delta p(z)\|_{C^{1+\alpha}} + \frac{C_{10} \kappa^4}{\sigma_1^2} \|\delta p\|_{C^{1+\alpha}},$$

where $C_{10} = C_{10}(C_\varepsilon, \kappa, H, \alpha) > 0$, $C_7 = C_7(C_\varepsilon, \kappa, H, \alpha) > 0$. Here we define the Lipschitz constant to be $L = C_7 \kappa^3 / \sigma_1^2 + C_{10} \kappa^4 / \sigma_1^2 > 0$. Then we have the proof. \square

Acknowledgements

The author gratefully thanks Prof. A. Hasanoglu (Hasanov) for the formulation of the problem and valuable suggestions.

References

- [1] Alekseev A.S., Tcheverda, V.A., Niambaa Sh. *Optimization method for solving the inverse problem of geophysical prospecting by electric means under direct current for vertically-inhomogeneous media*. Inverse Modelling in Exploration Geophysics. Braunschweig, Wiesbaden, (1989) 171-189.
- [2] A. M. Bruaset, *A Survey of Preconditioned Iterative Methods*, New York: Addison-Wesley, 1995.
- [3] M. Cheney, D. Isaacson, J.S. Newell, *Electrical impedance tomography*, SIAM Review, **41**(1999), 85-101.
- [4] M.A. Evgrafov, M.V. Fedoryuk, *Asymptotics of solutions of the equation $w''(x) - p(z, \lambda)w = 0$ solutions in the complex plane z , under the condition $\lambda \rightarrow +\infty$* , Russian Mathematical Surveys, **21**(1966) 3-50 (in Russian).
- [5] A. Hasanov, *Inverse coefficient problems for monotone potential operators*, Inverse Problems, **13**(1997), 1265-1278.
- [6] A.Hasanov, P. DuChateau, B. Pektas, *An adjoint problem approach and coarse-fine mesh method for identification of the diffusion coefficient in a linear parabolic equation*, Journal of Inverse and Ill-Posed Problems, **14**(2006), 1-29.
- [7] A. Hasanov, *Simultaneous determination of source terms in a linear parabolic problem from the final overdetermination: weak solution approach*, J. Math. Anal. Appl. **330**(2007), 766-779.
- [8] O. Koefoed, *Geosounding Principles: Resistivity Sounding Measurements*. Hardcover, Elsevier, 1979.
- [9] S. Narayan, M.B. Dusseault and D. C. Nobes. *Inversion techniques applied to resistivity inverse problems*, Inverse Problems, **10**(1994) 669-686.
- [10] S.Niwas, Olivar A.L. de Lima, *Unified equation for straightforward inversion scheme on vertical electrical sounding data*, Geofizika, **23**/1(2006) 22-33.
- [11] Pekeris C. L. *Direct method of interpretation in resistivity prospecting*, Geophysics, **5**(1940) 31-42

- [12] W.H. Pelton, L. Rijo and C.M. Swift(Jr.) *Inversion of two dimensional resistivity and induced polarization data*, Geophysics, **43**(1978) 788-803.
- [13] S. Siltanen, J. Mueller, D. Isaacson, *An implementation of the reconstruction of A Nachman for the 2D inverse conductivity problem*, Inverse Problems, **16**(2000), 681-699.
- [14] L.B. Slihter, *The interpretation of resistivity prospecting method for horizontal structures*, Physics, **4**(1933) 307-322.
- [15] A.F. Stevenson, *On the theoretical determination of earth resistance from surface potencial measurements*, Physics, **5**(1934) 114-124.
- [16] A.N. Tikhonov, *About uniqueness of geoelectrics problem solution*, Doklady Acad. Sci. USSR, **69**/6(1949) 797-800 (in Russian).
- [17] A. Tikhonov and V. Arsenin, *Solution of Ill-Posed Problems*, New York: John Wiley, 1977.
- [18] F.P. Vasil'ev, *Methods for Solving Extremal Problems*, Moscow: Nauka, 1981.
- [19] W. Wasov, *Asymptotic Expressions for Ordinary Differential Equations*, New York: John Wiley & Sons, 1965.